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7 100kN/mM%#8Z % — -~ = —|3mzE2Z| — ~ — — — | 100kN/mM%#BZ 5 — - ~ — —|3mEBZD - ~ — — —
TnLst 1.00 | 000 ~ 637 94.90 | ThS | 000 ~ 637|210 9.77 TnLst 1.00 ] 5.00 ~ 1752 94.90 | ThUS | 5.00 ~ 1752| 2.10 9.77
2 100kN/m#%#82.% — -~ = —|3mzE2B| — ~ — — — | 100kN/ Mm%z 5 — - ~ — — | 3mEHBZRD - ~ — — —
ZTh st 1.00 | 000 ~ 646 96.37 | Ths | 000 ~ 646 216 10.04 Th st 1.00 | 5.00 ~ 152 96.37 | #hS | 6,00 ~ 1526 | 2.16 10.04
3 100kN/m##8%2%5 | 1.00 | 000 ~ 049 10814 |3mEBZB| — ~ — — — | 100kN/MZ&#Z25 | 1.00 | 1327 ~ 1567 10814 |3mEHZS - ~ — — —
ZhLst 100|049 ~ 717| 100.00| Z#hLlst | 000 ~ 717|252 10.77 st 1.00 | 5.00 ~ 1327 100.00| ThL45 | 5.00 ~ 1567] 2.32 10.77
4 100kN/m%#8x% | 1.00 | 0.00 ~ 0.08| 101.32 |3mE#BZB| — ~ — — — | 100kN/M%E#BZ5 | 1.00 | 20.35 ~ 2141 101.32 |3m%E#% 5% -~ — - -
ZhLst 100|008 ~ 676 100.00| ThLs | 000 ~ 676 2.41 11.17 ZhLst 100|500 ~ 2035 100.00| Ths | 6,00 ~ 2141|241 11.17
~ | 100kN/miERBZB | 1.00 | 0.00 ~ 000 100.05 |3mERBZB| — ~ — — — | 100kN/m%x#z25 | 1.00 | 2083 ~ 2087 100.05 |3mZE#BZ3 -~ — — —
° ZnLlst 100000 ~ 669| 100.00| Ths |o0o00 ~ 669|240 11.15 ZnLs 100 500 ~ 2083| 100.00| Ths | 500 ~ 2087| 2.40 11.15
100kN/mM%#8Z% ~ 3ImEBR D ~ 100kN/M#% 825 ~ ImEEBZD ~
ZzhLst ~ zhus ~ zhLst ~ zhus ~
100kN/m%#8Z % ~ ImEEBZD ~ 100kN/ M#E#BZ % ~ ImERBZD ~
ZhLlst ~ Zh st ~ ZhLlst ~ ZhLlsh ~
100kN/m#%#82.% ~ ImEEZD ~ 100kN/ M%Z#B % % ~ ImEEZD ~
ZThLlst ~ ZhLlst ~ ZhLlst ~ ZhLlst ~
100kN/mM#%#B % % ~ ImEBZ D ~ 100kN/ mM%Z#B % % ~ ImEEZD ~
zhst ~ zhst ~ zhis ~ zhest ~
100kN/M##E 2% ~ 3mERBZLD ~ 100kN/ Mm% Z.5 ~ ImEEZD ~
Zzhnest ~ zhusn ~ ZFhLs ~ zhsn ~
100kN/M#%#2Z% ~ 3ImEER S ~ 100kN/mM#%#BZ5 ~ ImEEBZD ~
ZzhLst ~ zhs ~ Rt ~ zhLs ~
100kN/m%#8Z% ~ ImEBZD ~ 100kN/ Mm% #8Z % ~ 3ImEHERD ~
Zn Lot ~ Zh Lot ~ Zn Lot ~ Zh Lo ~
100kN/m%#82.% ~ ImEEZD ~ 100kN/ M%#BZ % ~ ImERZD ~
ZhLlsh ~ Zh st ~ ZhLlst ~ ZhLlsh ~
100kN/ m#%#8 2% ~ ImEEZD ~ 100kN/ M%#B % % ~ ImERZD ~
Zn st ~ Zh st ~ Zn st ~ ZhLlst ~
100kN/ Mm% 2% ~ 3mEBZD ~ 100kN/ Mm%z % ~ ImEBZD ~
ThLst ~ zhst ~ This ~ zhLst ~
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